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AP—62—2016
FACULTY OF COMMERCE
B.Com. (First Year) (First Semester) EXAMINATION
OCTOBER/NOVEMBER, 2016
(CBCS Pattern)
FUNDAMENTALS OF STATISTICS

(MCQ + Theory)

(Monday, 17-10-2016) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—10+30=40
N.B. .— () Solve question No. 1 on OMR sheet during the first half hour.

(i) Question No. 1 and Question No. 2 are compulsory.
(zi1)  All questions carry equal marks.

(tv) Use of simple calculator is allowed.
() WA H. 1 8 OMR = Hededml 3Te. 9l Ufedl 31 a9 9
.
() WA w1 W0 WA % 2 T AEE e
((ii) @& WA §HE O SR
(fv) | RIS IRTIE GAF TS
MCQ) 10
1. @) Statistics 1S an eeeeveeeeeneeeeeeeeeennen. ;
(A) Art and also Science

(B)  Economics and also Science
(C) Algebra and also Math

(D)  Account and also Audit
gﬁ-‘@:[a’ﬂ- %- .......................... .

(A)  FHe e fome e

(B) S1eRTE oMo foM e

(C)  yfact ewrfor wforq 3118

(D) @Y S HREU Y

P.T.O.
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(iiv)

(@v)

(2)

Mean of 15, 17, 18, 16, 14 is ................

A) 15 (B)
< 17 (D)

15, 17, 18, 16’ 14 -q'[ ﬁ@% 'q-l'w ..........

(A 15 (B)
© 17 (D)

Which one of the following is true ?

(A) a=x+21{/fx><l (B)
2

©)  a=x+2D (D)

N

GEOTh! HA 0?2

(A) a=x+21{/fx><l (B)
2

(®)) a=x+2]§x x 1 (D)

Which is the mode of the following ?
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16
18

a=x+ x 1

> fdx
N

X I

a=x-+

> fdx

x 1

a=x+

D fdx
N

X I

a=x-+

Y fdx

15, 20, 22, 25, 25, 24, 21, 12, 23, 27

A) 27 (B)
C) 23 D)
TEous! gfaes S ?

15, 20, 22, 25, 25, 24, 21, 12, 23, 27
A) 27 (B)
C) 23 D)

25
15

25
15
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(vit)
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Calculate Range from the following data :
x : 250, 150, 280, 130
(A) 230 (B) 150
(C) 180 (D) 170
Tole Hifsdrel YR foar e -
& : 250, 150, 280, 130

(A) 230 (B) 150

(C) 180 (D) 170

Mean deviation is denoted by :

(A) Delta (B) Square of delta

(C) Square root of delta (D) None of these

mem faged e AEH SFifaaa ?

VR (B) =& =

(C) 3w g (D) @TeRt

The difference between ..................... is called inter quartile range.
(A) Qg and Qq (B) Qg and Qq

(C) Qg and Q, D) Qg+ Q and Q3 + Q
.................. e T WU SR wqde faER 2.

(&) Qg M Q (B)  Qy M Q

(C) Qg o Q, D) Qg + Q M Qg + Q

The correlation between two variables will be of high degree :
(A) r is more than 0.75 but less than one
(B) r is more than 0.5 but less than 0.75
(C) r is less than 0.5
(D) ris equal to 1
P.T.O.
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M UeHNe TeHaY Iud Qo e Y Y@us! hivel feda AHe
S ?
(A)  r T 0.75 UeT WA W] Th ULl STHEAT
(B) r T 0.5 Y& ST U 0.75 Y&HRHT ST
(C) r ® 0.5 Yam HHE FTAMA
D) r &1 A IR AT

(ix) Increase in rainfall results in increase in the sale of umbrella. It is

the example of ..........cccuuvenee. correlation.

(A) Zero (B) Positive

(C) Negative (D) None of these

“red STeETE IR RS ST faswid a1’ § iV Teee e 3QE

g ?

A T3 (B) HSRIHS

(C) THNEH (D) TR ATE

(x) Regression is :

(A) Mathematical measure (B) Logical measure

(C) Statistical measure (D)  Analytical measure

BIGEUEE

(A) TR HISHEY ST (B) dreish HoMHM™ 3Te

(C) Wiferwha HieEM 3T (D) forcwomeHes: HioHT oTe

(Theory)
2. Calculate mean and mode from the following data : 10

Class Frequency
0—10 4

10—20 6



3.

(5
20—30
30—40
40—50
50—60

60—70

Toie Hiedl a&d AL 9 s &

i
0—10
10—20
20—30
30—40
40—50
50—60
60—70

17
23
14

17
23
14
4
2
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Calculate the standard deviation and its coefficient from the following

data :

Weight No. of Workers
(in kg)

30—40 03

40—50 05

50—60 12

60—70 20

70—80 10

10

P.T.O.
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(fheat 71.)
30—40
40—50
50—60
60—70
70—80

(6 )

T

Or
(feram)

e
03
05
12
20
10

AP—62—2016

Calculate mean deviation from the mean and its coefficient from the following

data :
Marks No. of Students
0—10 07
10—20 12
20—30 18
30—40 25
40—50 16
50—60 14
60—70 08

Qe Hifgdieed Hied U oo dieg o = ok Fel
T faemeff dem
0—10 07
10—20 12
20—30 18
30—40 25
40—50 16
50—60 14
60—70 08
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Given :
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(7))
x y
Mean 10.50 11.10
Standard Deviation 0.32 0.20

r between x and y is 0.77

10

Find regression equation y on x and estimate the value of y when x is 11.

oo .
x y
e 1050 | 11.10
o farere 0.32 0.20

x Sy HElS r = oI = 0.77

AR FHIHO y on ¥ TIR &&d y ° Jod &@. ¢ 9 qcd 11 Koo o=

Or
(feram)

Calculate Karl Pearson’s coefficient of correlation from the following

data :
X
25
28
32
40
35
42
24
36

‘v
19
24
26
32
30
38
18
34

Use ‘32’ and ‘26’ as working means for X’ and Y’ series respectively.

P.T.O.
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Toe Hied 96T 6o [JeREd Il Feaay U & :

‘or’ ‘!
25 19
28 24
32 26
40 32
35 30
42 38
24 18
36 34

‘g’ oftr ‘g’ WifowRS STIwH 32° § 267 Tfed WA Tl
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